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1. Construct the 33    lower triangular matrix A whose  non zero entries ija  are   
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3. Find x and  y so that the operations can be performed 
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4. Let A be a (2 × 3) matrix, B a (2× 2) matrix, C a (2× 3)  and D a (3 × 3) matrix.  

a. Determine, if possible, the size (dimension) of each of the following matrices 

   

  02CBAT   

 

 

 

  0BAD  

 

 

 

 1 CB  

 

 

 

  DCA    

 

 

b. Determine, if possible, the size (dimension) of the identity matrix I and the zero matrix 
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5. Given the matrix 
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a) Rewrite the first two columns (Use the method of repeated columns) to calculate the 

determinant of A. 

 

  

 

 

 

 

 

 

 

 

 

b) Consider the system 
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6. Explain why the value of the following determinant   
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7. Consider the matrix 
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8. Let  
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a. Use the method of cofactors to evaluate the determinant of the matrix B. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

b. Let I be the identity matrix and D a 33  matrix.  Determine the value of the 

determinant of the matrix D so that    TBCDAI 11   2 det  det   . 
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9. Solve  the matrix equation  
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10. Find a 22   matrix A such that    
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11. Let  A  be a 22  matrix such that 0)( det) ( det 4  TAAA  . Show that A has no inverse. 
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